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1 Difficulty Answer 

In the following sum, each distinct letter represents a different digit from 0 to 9. 
What is the sum of the digits in BASIC? 
 *** Note: The letter O in ROSS may be different from the digit 0. 

 
 

a) 11 
b) 12 
c) 13 
d) 14 
 

 

H B 

Translated version: 
0 9  

 BASIC  

*** O ROSS 0 

 

a) 11 
b) 12 
c) 13 
d) 14 

 

  

2   

The sum of the lengths of three sides of a rectangle is 40 cm. Each side length is a 
positive integer, and the length of the rectangle is 4 cm longer than its width. What 
is the perimeter of the rectangle? 
 
 

a) 56 
b) 46 
c) 66 
d) 48 

 

H A 

Translated version: 
40

 4

 
a) 56 
b) 46 
c) 66 
d) 48 

 

  

3   



 
The picture shows figures made up of n = 1, 2, and 3 dots along each side. 
What is the number of dots needed for the 8th figure? 

a) 85 
b) 101 
c) 112 
d) 113 

 

H D 

Translated version: 
 

 
 n = 1, 2 3 

8 
 

a) 85 
b) 101 
c) 112 
d) 113 

  

4   

Given a sequence in which exactly three numbers are missing:  
12, 16, 24, 28, 36, ___, ___, ___, 60,64,72,76,84.  
Which numbers are missing? 
A) 40 , 41, 42 
B) 40, 48 , 52 
C) 52 , 48 , 39 
D) 40, 50, 60 
E) 50, 100, 200 

E B 

Translated version: 
: 

12, 16, 24, 28, 36, ___, ___, ___, 60,64,72,76,84 

A) 40 , 41, 42 
B) 40, 48 , 52 
C) 52 , 48 , 39 
D) 40, 50, 60 
E) 50, 100, 200 

  

5   
 

All angles in the diagram are right angles, and the side lengths are provided in 
centimeters.. Keep in mind that the diagram is not to scale. What is the length of X in 
centimeters? 

M B 



 
A) 3 
B) 4 
C) 5 
D) 6 

Translated version: 

 X

 
A) 3 
B) 4 
C) 5 
D) 6 

 

  

6   

A group of 5 students has an average weight of 53 kg. Recently, one student left the 
class, after which the average weight of the remaining students in this group increased 

M A 



to 55 kg. What was the weight of the student who left the class? 
 

A) 45   B) 50   C) 48   D) 51 

Translated version: 
5 53

55

A) 45   B) 50   C) 48   D) 51 

  

7   

Evaluate the expression:   
1
2

1
3

+ 1
6
 

A) 5
6
 

B) 1
6
 

C) 2
3
 

D) 1
3
 

E D 

Translated version:  
   1

2
1
3

+ 1
6
 

A) 5
6
 

B) 1
6
 

C) 2
3
 

D) 1
3
 

 

  

8   

 Evaluate the expression:   2024 × 2024  2023 ×  2024 2020 
A) -2024 
B) 2024 
C) 4 
D) -4 

E C 

Translated version: 
 

2024 × 2024  2023 ×  2024 2020  
A) -2024 
B) 2024 
C) 4 
D) -4 

  

9   

If =
2

  then find the value of (1998 1990) × 250 250 
A) 0 
B) 1000 
C) 250 
D) 750 

M D 

Translated version: 
 =

2
  (1998 1990) × 250 250 

A) 0 
B) 1000 
C) 250 
D) 750 

  

10   

Evaluate the expression:   1-2+3+4-5+6+7-8+9+...+43-44+45 
A) 345 
B) 315 
C) 285 

H A 



D) 375 
 

Translated version: 
 

1-2+3+4-5+6+7-8+9+...+43-44+45 
A) 345 
B) 315 
C) 285 
D) 375 
 

  

11   

During the holiday, the price of an iPad was reduced by 20%. After the holiday, the 
store raised the new price by 10%. If the final price of the iPad is $990, what was the 
original price before any discounts or increases? 
A) $900 
B) $1000 
C) $1125 
D) $1200 

M C 

Translated version: 
20%

10% $990

 
A) $900 
B) $1000 
C) $1125 
D) $1200 

  

12   

Find the largest number among these numbers: 150%,   63
43

,    2 0.125,   1.50 

A) 63
43

 
B) 2 0.125 
C) 1.50 
D) 150% 

E B 

Translated version: 
:  150%,   63

43
,    2 0.125,   1.50 

A) 63
43

 
B) 2 0.125 
C) 1.50 
D) 150% 

  

13   

A baker can divide his cookies equally among 12 children, 8 children, and 9 children 
and still have 5 cookies left over each time. What is the minimum number of cookies 
the baker has? 
A) 65 
B) 72 
C) 77 
D) 84 
 

M C 

Translated version: 
12 , 8 9

5
A) 65 
B) 72 
C) 77 
D) 84 
 
 

  



14   

 
A car travels 3

4
 of the distance from point P to point Q and then reaches point R. A bus 

travels 5
9
 of the distance from point Q to point P and then reaches point S. If the 

distance between points S and R is 33 km, what is the total distance between points P 
and Q? 

A) 108 km 
B) 120 km 
C) 93 km 
D) 86 km 

 

H A 

Translated version: 

 
 

3
4
  P  Q R  

5
9
  Q  P S S R

33  P Q  

A) 108  

B) 120  

C) 93  

D) 86  
 

  

15   

 
The sum of the numbers on the sides of a triangle is 17. Using each digit from 1 to 9 
only once, calculate the value of (A+B) - C ? 

A)  -3   B) -1   C) 3    D) 5 

H B 



 

 
 
Translated version: 

17 1 9

(A+B) - C 

A)  -3   B) -1   C) 3    D) 5 

  

16   

 
    Find the number which should be written on the top of an algorithm. 
 

A) 7
4
 

B)  19
12

 

C)   3
2
 

D) 17
12

 
 

M D 



 
   Translated version: 

 

A)     

B)    

C)     

D)    

 

  

17   

Steve writes a pattern by using the digits 1,2,3,4,5 like the following order. 

123454321234543212…. 

Find the 86th digit of a pattern. 

A)      5   B) 4  C) 3  D)1  

 

M B 

Translated version: 

1,2,3,4,5  

123454321234543212…. 

86

A)      5   B) 4  C) 3  D)1  

 

  

18   

Chanda asked her father about the price of a jeans dress. Her father replied, "The angle 
is acute, and its measure is 3x+54 degrees. The price will be the sum of all possible 
values of x, where x is a positive integer." How much did he pay for the jeans dress? 

M B 



 

 

A)  $ 72   B ) $ 66      C) $ 80       D)  $ 82  

Translated version: 

3x+54 x  x

 

 

 
A)  $ 72   B ) $ 66      C) $ 80       D)  $ 82  

  

19   



Given that a, b and c are positive real numbers. Use the given data from the table 
below to find the value of “c”. 

x is multiplication, + is addition. 

 

A) 16 

B) 15 

C) 12 

D) 10 

M D 

Translated version: 

 a, b c 
“c”  

 x +

 

A) 16 

B) 15 

C) 12 

D) 10 

  

20   

Kevin has a certain number of walnuts. When he groups them in packs of 9, there are 3 
walnuts left over. When he groups them in packs of 5, 4 walnuts remain. However, if 
he groups them in packs of 3, there are no walnuts left over. What is the smallest 
number of walnuts he could have? 

A) 30 
B) 33 
C) 39 
D) 42 

 

M C 



Translated version: 

9 

3 5 4 

3

 

A) 30 
B) 33 
C) 39 
D) 42 

  

21   

The following is a sketch of the house with a plot of 320 m2. Find the percentage of 
Sara’s room area. 

 

A)      7.5      B) 8.5    C)  12      D) 22 

E A 

Translated version: 

320 Sara 

 

A)      7.5      B) 8.5    C) 12      D) 22 

  

22   



 
Evaluate the expression. 

A)      13      B) 12.5    C)  10.5    D) 10 

 

M C 

Translated version:  

 

A)      13      B) 12.5    C) 10.5    D) 10 

 

  

23   

The length of the sides of each small cube in the figure is 2 cm. Find the surface area 
of the given figure. 

 

A)      248 cm2 B) 244 cm2   C) 240 cm2    D) 236 cm2 

 

M A 

Translated version: 
2

 

  



 

A)      248 2 B) 244 2   C) 240 2    D) 236 2 

 

24   

Khalid forgot the third digit of his smartphone password. He knows that his password 
looks like 37 2 and the four-digit number is divisible by 6. Khalid is a smart boy who 
knows Mathematics well. Find the probability of opening the phone on the first 
attempt? 

A)      0.25   B) 0.4        C) 0.5          D) 0. 6 

 

M A 

Translated version: 

37 2 

6

A)      0.25   B) 0.4        C) 0.5          D) 0.6 

 

  

25   

 

The rectangle with the dimension 6cm x 5 cm is given. Oleg cut 3 squares with the 
length of 2 cm from it. Find the area of the remaining part. 

A)      22 cm2    B) 18 cm2 C) 20 cm2      D) 24 cm2 

 

E B 



 

Translated version: 

6  x 5 3 2

A)      22 2    B) 18 2 C) 20 2      D) 24 2 

 

  

26   

  

The shaded diagram shows a shape made from four 1×1 squares. What is the maximum 
number of such shapes that can be placed inside a 5×5 square without overlapping? (The 
shapes may be rotated or turned over.) 

A) 3   B) 4   C) 5   D) 6 

M B 

Translated version: 

 

1×1

5×5 (

A) 3   B) 4   C) 5   D) 6 

  



27   

Uncle Mike will celebrate his Nth birthday in 2025, which also will be the square of 
his age in 2025. (N2 = 2025)  
Find the year when he was born. 

A) 1980   B) 1982  C) 1985  D) 1990 

E A 

Translated version: 

 N 2025 2025  

(N2 = 2025)  

A) 1980   B) 1982  C) 1985  D) 1990 

  

28   

How many different 3-letter combinations can be made using letters I, M, C, if you can 
use each letter any number of times?  

A) 6   B) 12   C) 18  D) 27 

E D 

Translated version: 

3  I, M, C

 

A) 6   B) 12   C) 18  D) 27 

  

29   

On a globe, there are 17 lines of latitude (parallels) and 24 lines of longitude (meridians). 
Into how many regions is the surface of the globe divided by these lines? 
Note that, parallels are latitude lines circling the Earth horizontally, while meridians are 
longitude lines running vertically, intersecting at poles. 

 

A) 408  B) 414   C) 425  D) 432 

H D 

Translated version: 

17 parallels 24 meridians

parallels  

meridians

  



 

 
 
A) 408  B) 414   C) 425  D) 432 

30   

Find the missing value: 9× =202 – 4  

 

A) 20  B) 22  C) 23  D) 24 

E B 

Translated version: 

: 9× =202 – 4  

A) 20  B) 22  C) 23  D) 24 

  


